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QUESTION 1

What is one of the expected outputs of Business Automation Insights event processing?
A. Kafka Topic

B. Summaries

C. Raw events

D. Dedicated Flink job

Correct Answer: A

QUESTION 2

Which component is mandatory for Cloud Pak for Automation installation if single sign-on needs to be enabled?
A. OAuth 2.0 Service

B. User Management Service

C. Registry Service

D. NavigatorService

Correct Answer: D

QUESTION 3

Which process capability should be used for a use caserequiring manager escalation when a task is not completed?
A. Business Automation Workflow

B. Blueworks Live

C. Robotic Process Automation

D. Workstream Services

Correct Answer: D

QUESTION 4

During the upgrade of Business Automation Insights (BAI), one of the components can be restarted based on a
checkpoint or savepoint.

Which component of BAI uses checkpoints and savepoints?
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A. ElasticSearch
B. Kafka

C. Kibana

D. Apache Flink

Correct Answer: A

QUESTION 5

Which statement is true in order toconfigure Operational Decision Manager (ODM) with User Management Service
(UMS)?

A. ODM with UMS supports SAML authentication.

B. The names of the UMS groups must match the names of the ODM groups.
C. The default ODM roles must be modified to match the UMSbase groups.
D. The UMS users and groups must be mapped to an ODM user or group.

Correct Answer: A
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